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' 1. {a) State the contents of lysosomes,

(1 mark)
............ o G OB IS

{2 marks)
.......... Deily...aged.. gnel.. nviantee. Cell qganallesi...........
........ éﬁﬁw?(f’fwmﬂ?”ﬁf’%gﬁ LJaken In by The cell 9.
'f?mr Jubsfances  ind cfenals doviet ah"%ﬂ:; T Bidie cel).
2. What is cell specialization? {Imark)
...... e frocess by which newdy . mrAf*Pfﬂﬁnafﬂ—;o
;;,wmm{....m;zgﬁ: Lrafren, Jﬁ’j e

..................................................................................................................

3. It was found that during germination of bean seeds, 9.2 cm® of carbon 1V Oxide was produced
while 9.0 em” of oxygen was used L.

(@) i) Caleulate the respiratory quotient of the reaction:-

P—@ = Vﬂfﬁ e

------------

(2 marks)

................. Voluore o OXd9en.. Gasymed 2 D0 .
A .:L‘

T R P P TURERS PO RUNPRR. s P 10 R IPPPTEEOTD

{ii) Identify the subsirate being metabolized. (Imark)

........................ CarbohyehaTess e

(b}  In which part of the cell does glycolysis oceur? (1 mark)

..................................... CYTLPLBSIS e

4, How is the tracheal system adapted to its function {Imarks)
o lhe Spivackes... e, Suplid  Wilk a Muscelay Velve, [hak Golwlc

Jalopeniy and closings spwacler  hat hairs, That hep to

Prevent exceswe oo of wdler fom TRe body Tssuec 4
ovapocation;. The Techea. . Concist. f Chuknaw.. SpCeL., |
bavete That  keep tiam Cpen fo Glew” Gaser fo  Pos Thioughs
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5. Name two sites where paseous exchange tokes place in terrestrial plants. (2marks)

ol A e

........ Y N o

6. The experiment illustrated below was set up 1o investipale a certain physiological process
using u raw potato luber

Concentrated glucose

| - Raw potato tuber
}—— Trough

Distilled
water

(1) Suggest a possible physiological process that was being investigated. (1 mark)

................. (EEE0LSLES. ..
(b)  Explain the results obtained in the above experiment after a few hours (3 marks)
Volaae The lucose Slufion. icrase Bhile fia Volume., .

0f clisilied. walee s 2 Tough clecease) This ¢

|||||||||||

.................................................

fc)  State the observations that would have been made if the experiment was repeated

using boiled potato, (2 marks)
cedDExE. WML Be. . Ohrable. changel, Since..

-------------------------------------------------------
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7. Stale the end products of anaerobic respiration in: - {2marks)

{a)Animals

Lacke... aticl. and. enerqy;

..........................................................................

Ehanol.. Cavben(10).0xicte....and 206393, Ry nipall

e Goe
§. State two pmpemeé‘gf tha:1 cell mL"mer.l'LE (2Zmarks)

Jemf.ﬁfrmm&ﬂc e

LIEF]S{ b"ﬂ Cbﬂl?‘?fi fh ?%mferﬁfltrl’ -’ff?ff Pﬁ}

) !f Ti&ﬁd k_g
9. State two gmde ines that should’ br: folloved when typing of scientific names (2marks)

‘ﬁw afhmzri’ be_ Tuped. fn. (Telics. ).
e oo e il Tyl et

fﬁ# E i ? RO In amalf
T er e.u a'me fiHen [n q
10. Sta{ez“k Al (2marks)

ID]LS of luteinising hormones in female reproduction.
n.Tollicle

S amudales 1T Maluralon @) IR dracfien Tol5E 5 -

Sty gle1s L Terfic ﬁ!’-ﬁtf’ é_ om
hhﬁﬁx@ E{f'eﬁ.n fmmzjot fr 6: fﬂuj‘ u feum fcfoi’gfnﬂ-'ﬁ P"",_?

oY’
11. The diagram below shows a cross section ol a plum stem

.............................

(i) State the class of the plant from which the organ was obtained (1 mark)
Mmagv bfe donge...
(3 marks)

(ii) Name the parts Igbeled X Y and Z
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12, What are the causative agents for the following sexually transmitted diseases? {Zmarks)
(i} Gonorrhoea
......................... MNedscerca g anomrhled .
(ii)Syphilis _—~
......................... e S VI 0. S
(2marks)

13. (a) What is meant by the following terms as used in ecology

{i) Population

Refars. fo..qll.. Members.. 2. 4. given.. sFeses.. 0. Q...

---------------------------------

............ ﬂ.&tﬁ'ﬁﬂfﬂﬁ.....ﬁﬁﬁci@ft.,...@'ﬁ..ﬁ’...,ﬁﬁrﬁl‘.‘ﬁf‘@ﬁ..zﬂfﬁﬁi+:.ﬁ£z.i..,...
.............. ) ﬁk{ﬂ‘?fﬁﬂ:..'.f-y.“.é,ﬂﬁi...fd;...ﬁﬂﬁ?hJ’Mﬂ:ﬁﬂ%{.ﬁ?ﬁ@...f&-.... BE....e:

............... AT B J DR e sssrnreessssesers s s

T cattle...a. Pacdeeck...Cn. pld. TRt geffg.... v

(b) During an ecological visit to maasal mara students were able to see antelopes, lions,
yultures, and pastoralists grazing their cattle, Construet a food chain with four consumer levels

ending with the vulture to illustrate the energy flow in the ecosystem. (2marks)

Gr’-ﬂ_.ﬂ — Aﬁf&[wﬁl ,-—-—‘7/.1:3?-. — L/m{ﬁrr?d*
Acce Ty ofley Appreprate
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vhy plants have not evolved complex excretory 0rgans. (3marks)

14, Give three ,‘raglsc_l- 5 s
. .ﬁ.{q.::t:t.;.n'f’,‘{!!'?é.ﬂ.m.ﬁ @t feads bo. Podechin F. e WIS

...... lants.. prochuce.... (80 ToXE, WARLS nsssreens

....... Ue... difpeann... ... <qle geied. Arel.. £rapes

o Slove M2 wiofe, .f?.e{m:ﬂ..!-Wrﬂ....@f?@f‘!.ﬁmm{{;.ﬁ:!f ot
1qeller Wik e WO Ve 1)

15. State dne adaptation of the xylem vessels to its functions. (Imarks)

beposihze. 8. L. I fr el fo, froveat M, fon e lleping S

16. State three factors that increases the rate of diffusion. (3 marks)

= Steep, clepuson.. grackents. . (arge. Sufate. Qe ...

...:....Z:(!.'!.?:'?ﬁ:-.*:.....ﬁﬁ!?&ﬁﬂ@!?ﬁ{.i..................%J;ﬁ...ﬂ:@.‘z@f?..%..@..@{‘?!I?E

o JOGR T LETIIRL Do PR S
foy 2

17 The diagram below represents a certain plant,study it and answer the

. fanspuhr

questions that follow

(a) (i)Name the division to which the plant belongs (1marks)

o BEEPRYTRL o



(i) The plant only srvives inowel areas, Cilve i reanon i lenarks)

e A ebbiadlen. f;(?r.?r!;r-.....r?«!:...fﬁ:-....'?f.ﬁf;?f.ff'iélff)ff....

(b)) What is the function of purt lubeled A

Absop. walee. and cissobedd pineral | Satees......

{ lmarks)
18, Give the roles of cach of the Tullowing important exeretory products in plants  (3marks)

(i} Qumml.

. U_fcd I e Mcmu‘ﬁ:{ﬁm 9. drugs. G Theat Quflmentc. .

{(ii)Colchicine

..... Jaduce....Polypleicim. 5. planls.. I
f{rwf fn rme/ﬂ in, ft’f?nj s?mf C?'f?ﬂmu' érﬂ*—"rﬁ?/ rf:.'er?rqh 3

(iii) Papain

(ontacos..a.. Puleelfc. cfibslanges.. wed . e fooel .
.....e’.fn.c:ﬁc;;s@.....{ﬁi...ﬁ?d..f@ﬁrfﬁr;é.cx:.J... —

19, During a medical examination, a patient presented with the following symptoms; passing of

large amounts of urine which when tested contained a lot of glucose.

(i)What hormone was deficient in the patient (1mark)
(i) What disease was the patient suffering from (1mark)

Daabehs. MRS



20. 5t istic (i
’ ate three characteristic features used to classify members of phylum Arthropoda (3marks)

iSOl ppiocigesi.... . Ha...lahil Frelpi.

.................
.............................................................................

21. The graph below shows the effect of substrate concentration on the rale of enzyme reaction.

Rate of reaction

A
Substanss congentration
Subrfalc
(a) Account for the shape of the graph between A and B (2marks)

-----------------------------------------------------------------------------------------

.....................................................

(b) How can the rate of reaction be increased after point B {1 mark)

..............

.
........................................................ Piesipamisnsiissainia

............................................................

(¢) State one other factor that affects the rate of enzyme reaction. (1mark)

.......... Ternperqhie 3 pH i Enze Go-fackrs gnd G -enzy mes
Freyme Iohibiteess |

B|Page
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22. The diagram below shows stage during cell division.

(i) Identify the stage of cell division in the diagram above (1 mark)

(i) wauamns for your answer in (i) above U mdk}

HDMD/Uj'éL{I Chromosemes efﬁm'f%f and.. Mljnff‘ (3
apposite poles wilK (et mieer Jeactin:
(b) Hov. are the spongy mesophyll cells adapted to their functions? (1mark)
e Qe fﬂrﬁj.?f Qrmr;ecf & (‘rr:ez?’" /Eg‘@ qer Spaes
md& spa{-e:r “fov es fo diffeic s

23. Name one cﬂfﬂ or and one cu-enzyme required for a blood clotting pmu:ess tn be normal.

CalGum. F{;Qid ke a2t (1mark)

Co-factor -
' , ¢
b) co-enzyme i l/Ifcmenk-} (Imark)
24. Define the following terms; (2 marks)
i) Taxonomy

The  Serence. 9. Clascifralens ...



i) Binomial nomenclature

. Binemial...oomenclalis.. (5.9, Sew. 9..naminy.

i which an.. ox " o
An..hich. Gn.. ovganism. 1. Given, @ pame. Gmpekd | -
8 fwo Paris, fg 71},31, n-%%fﬁ f@[ﬁ:‘MrﬂHfﬁﬂﬂmﬂr ¢s Eper

25, In what ways do emotions affect the rate of breathing in humans (2Zmarks)

Emolions _ @ffect.. T Podluchon ?}/__,__/_‘zfrm;mﬁ.ﬁ.eﬁ-zmﬁpej

.................
------------------------------------------------

......................................................

26 (i) Define the term predation

D feeel !.'_T;g...@fﬂ.ﬁﬁ%’f’!?ﬂ....(.f.“:'.,..ﬁ?flf{:ﬁ....{-?!?‘..F’\T.j?ﬂfrfﬂ € frecfater)
Ll et qrganis (LA o Ol

---------------------------------------------------------------------------------------------------------------

(1 mark)

(i1)State three behavioral adaptations displayed by the prey 1o minimize predation (3mks)

Misticsig § e example, fe sliek . et JmicS @ ofty~chuck

--------------------------------------------------------------------------

......................

-----------

.........................

f}?ﬁ(rﬂ D—/ ﬁ:& ﬂfh?ﬁ.f-

27. Differentiate between the following terms:-

(i) Hypogynous flower and epigenous flower

: \ o
........ (fyrognews fmhfuﬁ‘ﬂﬂwﬁmhmerﬂmf fark
gmv&Qmamﬁgmigepﬁnmrﬁm@

ol one. o Rhich. TR 0vay... (... plated. Such Tt
........ iz Offex. f{oval . parfs. 0¢tux.. Above. I6x.0¥35]

Al 0Daoa i
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(i1) Gamopetalous corolla and polypetalous corolla

L Gavepefalpas . (omalla.. 5. Gne.. . whith. I petals
Wﬁf»ffﬁfWB/f,ﬁuéﬁezb/ﬂufﬁmﬁﬂf*Omfh
Aohich T pefals are  fr€ed . ..o

- Study the following chemical equation and answer the questions that follow

. Processx i

Ci2H2:041 - H;0 . i .Pr;]l.ﬂutl b + CgHj2 05

(ii) Identify process x and the enzyme that catalyses” the process (2mark)

pmffﬂ-’fﬁafﬁﬁf&h Eﬁ’;fmf' "....f?:is!l':efﬂm K

(ii) Product Y (1mark)

Jﬁ-i LR R R Ll

11



g, Study the diagram below and answer the questions that follow

_..--"'"_'_'_._._‘
J-.r Fuilhor oxconn
J#"J
EH.'EE'E; i - ,E:::::m
Is o
\\\‘ ||'r
""‘-..‘_1 Blorim
{:.:il:r;innl} \ / (sat paint}
- Daoficloncy . Comoclive
o mochanism
e 7 a
= =
""""‘ Furiher deficiancy
a) Name the mechanism labeled X +  (1mark)
Pesihie. feedbacie  (Mechanisd 5 ...
¢) If the above diagram represented temperature regulation.
one ; . .
(i) Stateghe corrective mechanisms carried out at a {1marks)
by , =
No_swealing [ flar racsed [Bhod Kept fom th, Sucface] ficrased
[Yefa Lolem™ Ay One-
 (ii) The condition that may result from the further excess (1mark)
........................... [ty P thermia ;
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